Paper-Maker Monika Awasthi
Directions (1-5): st fq@ 1T weat & 3wX ax & fav fAwafaf@a IR &1 eaeqEs

eI A

37T eafdd 37T A, B, C, D, H, G, F 3R E §, OteT Tfr &7 Soa 37e9T-37619T #T 3721
ST, ST, ITEd 3N FGa FI IeT-37e9T ar@r 37U 15 3R 30ﬁ§mmaﬁ
&1 fF THT w H g o Ferer-3rd9r fasmen 3raTq sy, agg, e, daaeE,
AR, Fgfeer, e 3R aifAR e & o Fefta 761 §, el 78 i A A A
gl

ARRAT F geaftg fFa 3R AR T G afFd & AT hdd U Afad
T ST E3T 4TI H FT SToH GH T&IT dlell dRIE I, vt 31 T arer 78 & g3
AfereT Seradl 7 €T H 31K F & AT shaol Teh IfFd &7 SToH §34T21T,3|TF€®%H©
HSTT 81 F &0 Sfes H & ggel 3T | E 3k aitiaaeh O gesfag safea & aeg
el et AP T STedl 3T AT| EH SFedl 30 T alel FG & g3 AT Afhed FLA
IR & 7611 F 3R G & 7L &) & 3f0F PN 7 e g37 7| C 3R D & e A
HATT FAEI & §3T AT| D T Sfedl TH HEIT el TG H g3 2411 G 3R B, Sy For @
A §, %mw%aﬁw%ﬁwamgmmaﬁﬂmﬁmw%sﬂ?aﬁﬁ
A GFfd ST & HET Shael Uk hied H Siedl §31 47| WA @ Feftrd cafed
FT Sod, oo @ gafeg safea O uge §mm,éﬁﬁrm%mﬁmﬁwm$aﬁ
31T UT|

Q1. AFTTaf@a 7 @ i NIRRT T geafaa &7
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(e) 3oTH & HIS Igl
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Q2. AT # & AT Ha et H T &7
(a) H difSifefd & aefaa &

(b) H 3R A% FET Shael & SATFAT HT STed gIHT AT
(c) H & dTe; el & Al T Sied 31T o

(d) H3T Sfe 30 313TET T 31T T



(e) Tafr @ET &
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Q3. AT ura & § TR Toh Hefg @ <A 8, I8 U A MSY o 38 T 4
TeferdT =gl 82
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(d)A
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Q4. E & el H [A=Ifaf@d & & &l @1 g g7
(a) E T ST=H HgIeT FT 15 Hrﬂ@ﬁgsﬂm
(b)Emamagﬂ%ﬁﬁﬁgaﬂml

(c) E uitaifefadr & @afera gl

(d) E 3T ST shael &l STl o STg g3 2|
(e) @l Tgr &
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Q5. FAFTafld # & foheehT Sfed 15 SfeT T 31T Am?
(@) F
(b) G

(ocC
(A

(e) 3oTH & HIS Igl
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Directions (6-10): f&U 1T Ul FI 3R &of & folv AFfoif@d SR &1 3readeT
Fifa:

Teh Ueg; R TEAT el AN A S Usal HR FEITHT Y Teh FeI9e @zt & STl &,
dar 98 U faW fATH &1 aree FXd §U gecaafeud R &l fAefaf@d saqe 3R
qACHaEAT HT TF 3ETEX0T ¢

$e19C: soul 74 bag 54 92 61 dancer light 82 read




YIOT I: bag soul 74 54 61 dancer light 82 read 92

YIOT 1I: dancer bag soul 74 54 61 light read 92 82

YIOT 1I1: light dancer bag soul 74 54 read 92 82 61

YIOT [V: read light dancer bag soul 54 92 82 61 74

YIOT V: soul read light dancer bag 92 82 61 74 54

3R TOT V eFawdr # HAH Wor Bl Iuded WO A QU v FIAT & 3eER,
fAFfaf@d g3 ueat & e fT a1v go9e & fav 3uged @or Ad Hife|

$oT4c: Gratitude 70 attitude 86 latitude 93 belong 73 make 49

Q6. STIEAT I G A & TAT fehcdel TV T HTaRTehcT grof?
(@) IV

(b)V

(c) VI

(d) viI

() 3oTH & g oFeT
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Q7. AF=ATafEd 3m3eqe His &Y =RoT FEar g
gratitude belong attitude 86 latitude 73 make 70 93 49
(a) I

(b) 11

(c) vl

(d)1v

(e) THT SIS =T 7T gram
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Q8. Tt &d & & PiT-aT TIOT 11 gIaT?

(a) attitude gratitude 86 latitude 93 belong 73 make 49 70

(b) belong attitude 86 gratitude latitude 73 make 49 70 93
(c) attitude gratitude 86 latitude 93 make belong 73 49 70

(d) make 49 73 latitude gratitude 70 93 belong attitude 86
(e) $TH & 15 7gt

L1Difficulty 2

QTagsInput-Output

Q9. TOT IV &, Mot f@d & & st a1 2rec/TTar &6 TUT W gl (21 3] A)?



(a) 9 make
(b) belong
(c) 86

(d) attitude

(€) 3TH & IS gl
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Q10. TXOT 11 H ¢T3 3R & IIId ded 3R WOT [ 7 18 3R F I dcd T 19T 347 87
(a) 160
(b) 157
(c) 158
(d) 159

(e) STH & FIS =Tgr
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Directions (11-12): sl feU 1T JcAsh geaf & A HYA & dle F© sy Qv 1w |
aATd dzal ¥ e gl W 8 3TIent feT a0 FUa! & T AT g1 Toft fAswst ar
gfeT 3R T F=Td deat 1 Aeierst d gV fAeiRa Hifsdr & e orv fasswst & @
el AT T T HYAT T ATfeheh TT F 3HTHIT T &

Ql1l. HU:

shddl T IR AC &

o dle Aol

el arge It g

sy

1. IS AT IR AT B

I1. 3T Jelt T IR gIAT Teh HHTIAT & |
111 I3 QU &7 Ale g1 Teh THGT g |
(a) hael 1 3THROT T &

(b) sharel 11 31TEOT Tl &
() Faef 1 31 111 37T80T FXAT &
(d) Sharel 111 3TeTEROT YT §
(e) IS 3THIUT A&l &l &
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Q12. HU:

g e 19T 78T &

Fo 1T {T B

Fadl Fo T He B

sy

1. $S e I 71 8

IL. %o Yee e gl

111 T3t &he e §

(a) Shdel I JTTEOT T &

(b) et 11 31 111 3TEROT YT §
(c) I AT 1T 111 3TEROT AT §
(d) haeT 11 3TTHROT AT §

(e) 3772F S =78
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Q13. ezt T v dfFd #, 3mefiy gIv R & 153 T I 3R =igr 910 R ¥ 109
T W &1 Ife 57 9ffa & A8T a5 3R & 12d T W g, aF 915 3R 3mehy &1 T
Far g7

(a) 8T

(b) 7aT

(c) 10aT

(d) 12ar

(e) 39T H § FIS e
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Q14. 215G REQUIREMENT & Ugel, diY, ATdd 3R 3T 318N & §of IR 378 el A1
Qg H a1 3R A IERT U7 did-ar g2 AT T T 31TH Asg §oid g, dl 3 X &I &
Rfaa #¥ 3R FiIg TTF 2Teg AT ol & df 3% Z & &9 7 RDfgaq i

(a) M

(b) X

(c)Q
(d)Z



(e)R
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Q15. eTs& EXPANSION # Q& fohclel 31&N o g, TSleTdl & Tcdsh & ALY 3o g1 378 &,
TSrcet 3731ST aotATeT 3 3o1eh 7ET 7

(a) Tsh
(b) IR
(car
(d) et
(e) IR & 3+
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Solutions
Solutions (1-5):
Sol.
Months Case 2
Dates | Person | Department
January 15 C Leadership
30 D Taxation
June 15 A Sociology
30 F Nutrition
August 15 B Yoga
30 H Positivity
November | 15 E Teaching
30 G Science
S1.Ans(d)
S2.Ans(e)
S3.Ans(c)
S4.Ans(a)
S5.Ans(d)

Solutions (6-10):

The machine arranges a word and a number in each step. Words are arranged in
alphabetical order at the left end in each step. Similarly, the numbers are arranged in
decreasing order in such a way that the difference with in two digit number. Highest
difference is placed at the rightmost end in one step, followed by the second largest
difference in second step and so on.

Input: Gratitude 70 attitude 86 latitude 93 belong 73 make 49



Step I: attitude gratitude 86 latitude 93 belong 73 make 49 70
Step II: belong attitude gratitude 86 latitude 73 make 49 70 93
Step III: gratitude belong attitude 86 latitude 73 make 70 93 49
Step IV: latitude gratitude belong attitude 86 make 70 93 49 73
Step V: make latitude gratitude belong attitude 70 93 49 73 86

S6.Ans(b)
S7.Ans(a)
S8.Ans(e)
S9.Ans(c)
S10.Ans(d)

S11. Ans.(b)
Sol.

Yellow

S12. Ans.(c)
Sol.

S13. Ans.(b)

Clearly, Ashish is 15th from the right and

Neha is 12t from the right end and 10th from the left end of the row
So, number of students in the row = (12 -1 + 10) = 21

Now, Ashish is 15th from the right

Number of boys to the left of Ashish=(21+1-15)

Hence, A is 7th from the left end of the row.

S14. Ans.(d)

S15. Ans.(c)



